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L. v 7’s ruling, as per n"117’s report — in accordance with ™ ("v”3 129N 1INR”)
a. Challenge: elder asked 11nv "1 about moving a hen’s nest and »" ruled that he may not, as it was designated for hens
b. Answer: in that case, there was a dead chick inside
i. Note: this will only work according to 11 who reported that w™ agreed to n¥pn in case of o'nn n"pa
ii. But: according to X211, who maintained that w™ disagreed there as well, this doesn’t answer the challenge
c.  Answer: there was an egg (191) in the nest
i Challenge: 1 reported that only those who accept n¥p (" 1) accept Tom
ii. Answer: there was a fertilized egg - not fit for eating for anyone at this point — v"1 agrees that it is nxpmn
d. Alternate version: 9oV 7”2 pn¥> "1 reported that 13 1 ruled like N 7, 9”2 ruled like v
i In other words: 13y 1 quoted “yIR” — but didn’t agree, and held like N "9
e. Comment (901> 275 »3K): we all know that j3nv "1 holds like nn> 1 (even without qoy 792 pn¥’ *v’s report)
i. Per: story with »or 29 (janv "1’s student) refused to move a lamp (unlit) that fell on him
ii. Correction (9or 27): that proves nothing — n1n is a different issue —
1. Per: 9"aw7’s ruling that a n1n that can be carried in 1 hand may be moved; if it needs 2 hands, Y0905 Mox
a. v 7% we rule like w™ re: 73; but any nmn (even if it can be carried with one hand) is %0502 11oR

i. Reason: 9oy 21 27 - since it occupies a set place, moving it is akin to 1"2/n7no
1. Challenge (901 375 »2N0: canopies, which occupy a set space, yet may be moved on naw (x»n ")
ii. Rather (72x): the lamp was made of segments; concern if it falls, he’ll reassemble it

2. Answer: in that case, it didn’t really have segments; it was scored and looked like segments
b. Summary: if segmented, all agree that it is 1708, no matter the size
i. If: scored, all agree to ban if it is big; dispute whether to extend n71 to a small one
iii. Challenge: 130y "1 ruled that nywn nnoa N30 and in 2:n° 0%, the 1121 is only forbidden if it had myn on it
1. Implication: if it has no myn, may move it — even if they were there all of mwnwn pa (v™02)
2. Answer(Xvr’7): frame that mwn as a case where money was not there all of w”a - to keep 13101 '3 consistent
II.  9"am’s report — 11 once went to a place and ruled, regarding a lamp, like v" regarding a 1
a.  Question: did he rule leniently as w” rules about a 3, or did he prohibit "1 and also rule like w™ about a 137 yp’n
b.  Stories: of o'nan and how they dealt with dispute about the 1
i. NT9j7. 8391 1 (at 'm9NW "7's house) and nrYYA Y01 1 (at n”277’s house) carried 91 and hosts were Tapn
ii. Respect: 1nar "3 would only carry it in 9”27’s house, not in a0y *1’s
1. Reason: he held like ™ but would respect 13nv *7’s ruling (like nT7? '3, above) in his house
III. Various m and their status after they’ve gone out
a. /75 37 permitted to move an oil lamp, not a kerosene lamp (smells bad)
b. 9o» 11 727 even kerosene lamp may be moved
i Story: ®17 challenged 1R " regarding n27’s opinion - why do they allow kerosene lamp?
1. Answer: since it could be used to cover up a vessel elsewhere
2. Challenge: if so, all rocks in the yard could be used to cover things — should be permitted
a. Answer: those aren’t considered 53" this is a 93
i. Per: xn1a that braclets, rings, etc. even though they may not be worn in 9”1, may be moved
1. Reason: they have '3 nmin
2. Similarly: the lamp is a 93, unlike the rocks in the 7¥n
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